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x 2,750,000 0 2,750,000
Al 3,076,277 3,029,096 47,181
22 25 3,866,955 1,206,040 2,660,915
= 600,000 0 600,000
ES 1,750,000 0 1,750,000
Al 1,516,955 1,206,040 310,915
OIS =0 X4 3,866,955 1,206,040 2,660,915
s 600,000 0 600,000
ES 1,750,000 0 1,750,000
Al 1,516,955 1,206,040 310,915
SEXd A= 695,040 702,440 AT,400
201 Y2 bl 1,260 18,660 AT,400
01 At 22l 4,360 7,760 £3,400
OTANZEARE 29 1,000 4,400 A3,400
— 27| gyl 0% 0 2,400 A2,400
— ooy S 2l 500, 0002 #23] 1,000 2,000 A1,000
02 32 6,900 10,900 4,000
OXRNHI(FA, 42/, RF) 3,200,008 3,200 7,200 £4,000
HELZ 2l2uy 402,880 0 402,880
s 400,000 0 400,000
Al 2,880 0 2,880
401 N EHIL 2T 402,880 0 402,880
s 400,000 0 400,000
Al 2,880 0 2,880
01 A&t 400,000 0 400,000
ONELZE 2|22 (S8 X) 400,000,008 400,000 0 400,000
s 400,000 0 400,000
03 A& S THHI 2,880 0 2,880
OMEZZR 212U 400,000,000 %0.72% 2,880 0 2,880
WEHKTE 22 503,600 0 503, 600
s 200,000 0 200,000
Al 303,600 0 303,600
401 NEHIL 2 THYI 503,600 0 503,600
s 200,000 0 200,000
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OHUHIBY 2SBE(HSH)
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500,000, 0002 *0.72% 3,600 0 3,600
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= 500,000 0 500,000

Al 3,600 0 3,600
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= 500,000 0 500,000

Al 3,600 0 3,600

01 Al 500,000 0 500,000
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ORESAX T =l 0 2,000 A2,000
— z 02 0 1,500 A1,500
—- 2% i 0 500 A500
03 A2 bl 0 42,040 A42,040
O™ S8 J|YH 02 0 40,000 40,000
OUSH 2BUA 2Y LAY i 0 2,040 A2,040
206 H 2 bl 219,996 316,000 296,004
RETT 219,996 316,000 296,004
OMNS¥ 2928 7Y 60,000 72,000 A12,000
A28 D20 29 W P i 0 2,000 A12,000
O™ =32 2YSE 2Y 18,000 36,000 A18,000
~HE, DSEZ2IY 2Y W2 2Y O 0 18,000 £18,000
O4+2¥ 228 7Y 141,996 208,000 266,004
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11,666,0002 *63! 69,996 120,000 A50,004
— 428 D20 29 W2 7 02 0 16,000 ~16,000
301 YBEHB 600 10,200 £9,600
ERIEEIE 600 10,200 £9,600
ONESAX Z2I18 29 S| i 0 9,600 A9,600
405 Tk &HF St 4,165 7,615 A3,450
IR EEEEE 4,165 7,615 3,450
Oortolal MesmIl 2Y i 0 3,450 A3,450
RME 2P LEAL BEHL AY 1,000,000 0 1,000,000
= 1,000,000 0 1,000,000
401 N EHIL2THEI 1,000,000 0 1,000,000
= 1,000,000 0 1,000,000
01 Al bl 1,000,000 0 1,000,000
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= 1,000,000 0 1,000,000
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R 35,640 59,640 24,000
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01 At 22l 18,760 23,760 25,000
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— =2l 8,200,000 8,200 13,200 25,000
202 O4dl 12,680 31,680 219,000
01 =S LHA YI 12,680 31,680 219,000
OgEFAIIE0HI 12,680,000& 12,680 31,680 A 19,000
Heaes(2AZ L) 960 0 960
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gret=J1E 960 0 960
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